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O// AN SAI0 =D|5t
oString s = new String("Hello World!");
oString s = “Hello World!” // S&&t HAsStEt
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public class StringTest
{

public static void main (String[] args)

{
String proverb = "A barking dog"; // new @2
String sl, s2, s3, s4; // &Z HEZEAM HAE0A

System.out.println ("EAFEL| 40| =" + proverb.length());

ot

sl proverb.concat (" never Bites!™); // &

{0 [
s

s2 proverb.replace ('B', 'b');
s3 proverb.substring (2, 5);
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s4 proverb.toUpperCase () ;

System.out.println
System.out.println
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System.out.println
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72 A barking dog never Bites!

A barking dog
bar
A BARKING DOG




int x = 20;

System.out.println ("AMIZ2 " + x);
// "Bt 207 O] EHEICE
String answer = "The answer is " + 100;

// “The answer is 100"
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int i = Integer.parselInt("123");

// W= 10| F4 1230 MYECLCE.

double d = Double.parseDouble ("3.141592");
// B g0 A 3.1415927F MEHEICE,
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byte Byte
short Short
int Integer
long Long
float Float
double Double
char Character
pboolean Boolean
void Void

im ZeiAE 212 AEFES
(=5
ZoMAR PSD G T







